NTERADHB(HEBERFH

4 —-11A—1;8—AkE A B
K4
1) ROFEZELLGIV, BIZBEHTRD. BVThLZWNEREIRYZHLESL,
(2% 1088)
1) 585+5 2) 28.5+3
3) 98. 7+8 4) 35. 7+6
5) 69. 3<=7 6) 828+9
7) 75. 4+%2 8) 141+3

9) 452+4 10) 94.6+6



NTERADHB(HEBERFH

45 —-11A—1:8— KBE A B
K4
2) ROFEZLESW, BEIEHTRD. EVThEZLESEFIRYZHBLESL,
(2% 1088)
1) 6423 2) 87.4+7
3) 531. 6+8 4) 792. 4=5
5) 162+2 6) 91.2+4
7) 47.6-+6 8) 396-+9

9) 225+4 10)  721.6+8



45 —-118—1;:B—KIE

NTERADHB(HEBERFH

A

K&

=}

3) ROFHEZELLGEL, BRRERTRD. BYTNGWNGESIFRYZHLEE,

1)

3)

5)

7

9)

401. 713

704. 1-56

321.7+35

968. 4+-19

832+-64

2)

4)

6)

8)

10)

(2% 1088)

241.6+21

113442

510+34

617. 8+27

6613. 2+48



45 -11A—1:B—KIiE

NTERADHB(HEBERFH

A

K&

=}

4) ROFHEZELLEIL, BEBEHTRO. FYTILBLESRRVEHLEEL,

1)

3)

5)

7

9)

3718. 4+11

561. 8+57

136. 4+13

8501. 3+46

2316. 8+22

2)

4)

6)

8)

10)

(2% 1088)

952+34

2621.5+18

48369

630. 4+15

768+-32



AF£-11A—-1:E8—&IE

NTERADHB(HEBERFH

A

K&

=}

5) ROFEZELLEIL, BEBEHBTRD. FYTILBLESRRVEHLEEL,

1)

3)

5)

7

9)

928-+-58

254.9+-33

4208. 6+54

625+25

1260-+-42

2)

4)

6)

8)

10)

(2% 1088)

7386. 5+81

864--96

330. 8+29

5011. 2577

546. 3+17



NTERADHB(HEBERFH

4£—115—1:8

1) ARE—m@E (2K X10%)

1 117 2) 9%Y1.5
5) 9%Y6.3 6) 92
9 113 10) 15%YU4.6

2) KiE—MRE (2R x10%#)

1) 214 2) 12%&Y3.4
5 81 6) 22%KY3.2
9) 56%Y1 10) 90RY1.6

A =

3) 12:%Y2.7 4) 5%RY5.7

7 37%Y1.4 8 47

A =

3) 66%®Y3.6 4) 158%V2.4
7 TRYS5.6 8) 44

3) Kig—EE (2R x108) A =]
1) 30&%Y11.7 2) 11HRY10.6 3) 12%Y32.1 4) 27
5) 9%RU6.7 6) 15 7) 50%Y18.4 8) 22%Y23.8
9 13 10) 137%Y37. 2
4) KE—RE (2Rx10#) A =]
1) 338%Y0. 4 2) 28 3) 9%U48.8 4) 145%Y11.5

5) 10RY6. 4 6) 7
9) 105%Y6.8 10) 24

5) &E—ME (2R X108

7) 184%Y37.3 8) 42%«Y0.4

A =

1) 16 2) 91%Y15.5 3) THRY23.9 4) 9
5 77%®Y50.6 6) 11%RY11.8 7) 25 8) 65%KU6. 2
9) 30 10) 32%Y2.3



